10Bo30ol Logsdmam Gglidol dgxsligdols liggds

0535690900 1-35-0b 3slsrybgdo:

o Bl ||

1912021222324 (25|26(27(28|29|30|31 3233|3435

o Bl ||

94™39e0 Lfcmemo 355v9bo Boligds 1 Jmmom, bmerm dzs®o 3slivgbo - 0 Jwymoo.



©335¢2g05 36. (5 Joeos)
39991505090 (308600 IBMIMOE BOHB0ZNO LOOIIOL SBMYd0M IBMIMOO
96099900 @S 9993L90 (3bGOEO.

1. 99 dogms 5. XMIWO

2. dons 0. 30MaM530
3. LoMBdML BoMEYbMdS 3 3MWAE0

4. boddgogz6y ©. bo@GHmbo
5. bsbmbob 3m95303096¢)0 9. 3540

6. 5035 3. 39e30b60

W ElR e o
P~

30090190 Jws oMol Lmemo 1393 gd0l Mogbal dobml ghmo. LimMo 13gEgdo
019005, HMYMOOE Bmyzsboe BMOEId0s. blibzsgzgdmewo Lggdgdo 9E3sMos.



©335¢2905 37. (5 Joyeos)

999dG®™bo v LoBds®om Jgxm0bs B 0600300l dsgbod 39edo dsehoMgdols
35MmOMOME®© s IMIMMBS 0Ym R Moombol HOHghombyg. e-gugdBembols dxbEol
dmE0s, m- 9EgdGHemmbol dsbss, E-9ergd@®mbol 3069@¢03m6M0 9bgMaoss,
F-05360& 76 3980 9argd@Hembbg 9mgdgo dosgmss, T-{iMgHombg 0G:xmb30l 3gMomos.
397L5058900 3086V EIBMAMOD oMLIBIWYOOL SLMGdom IbMIMOEO
LOOYYO0 s 95390 3bEHOWO.

1.v2mE/eB 5.V 1(213|4|5]|6
2. 2E/R 0.B S X
3. eBRv/2 3 R 0 X
4. 2ntm/eB ©.E 3 | X
5. eBR/m 9.F Q© X
6. FT/2neR 3. T 9 X

3 X

3009dmmo Jes MMol LfimMo 393900l Gogbgl dobul ghomo. Bfimeo 13gEgdo
01g00s, GMMMOE dmyzsb0ow (3bMHOEB0s. #oBlibgzz90Mmo 1ggEJdo 3IMOS.



©535¢g05 38. (3 Joyeos)

45°-00 IHOOE 53 LOdMEYGHY Iges30 FsAMLEOSEs T MHMTo. LodGMEYg
3130 MM YMi0Eogm, ol 09539 500 sb BdMLM0sw©gdm©s T/2 Gmdo.
39bLsBE3MGm bobmbols 3m9gx3030963)0 dges3obs s LOdMEHYOL BYPI30MGIL FraMOb.

6039 d99dmbgz935do Lofyolo LoRJseg bmerol GHmeos.
59mblbo:

s = alTTZ, Losg a; = g(sin45° — ucos45°).

ax(T/2)* . co
s = =, boog a; = gsin45°.

59 3963M@9d900sb dJoowgds, Gmd u = 0,75.

3cy3960¢00s g93eoeo dsbdogrols gm®GImegdo mMogg 89800b393580 - 1 Joems;
30g3560¢05 5BJo9d0L BMMGIMEgd0 MM0gzg 99dmbggzsdo - 1 Juyems;
2580Y9gb90Me0s 353000 356d0Ergdols BrErmds s

300gd19os bmMo 3sbvbo - 1 Jmems.



©535¢2905 39. (5 Joyeos)
Bobo@ by godmbobren 1dgdsdo @gbols Fyseml dogs Fobswmds 1 mdo, bagnm dsldo

399535000 @960l dogns 3 53396M0s. R =6 30
Rs=6 mdo

' Re=12 mdo +

29bLsBE3Mg0:

1) 2969 §6Ogol Hobowmds;

2) Ri1 §obommdsdo 3s9mymaoo Loddesgzmy;

3) ©9bob does Rs foboswmdsdo;

4) ©9bob Hgotrcnls 98 doens;

5) 1 §5880 gbob {gomrml sbstrxmmo gbgeyos.
59mblbo:

RsRs — 4 mBo, R=R'+ R, +R" = 11 »do.

DR =2 = 2030, R =
3 5+R6

2) P, =1fR; = (1/3)%R, = 630
Bls+lg=17 ="0=2 = [;=2=2s
6

Rs
4) &=I(R+1)=36 3.
5) W=l & t=108 .

b0 335609006 MoMmMGMEo Bslipgds 1 Jwom. 33sGHomdm gho MGogbzom
09300m03L. 56 335¢BHoMdm Fg3MIsls JMHNYMeEdo. M) 3mdpgzbm dgimds fobs
99300030l 99009205, A5l Fg3MASE 56 0O,



©335¢2905 40. (5 Joyeos)
3m dsbob dgers30 k LoboliEol 3mMHODMbE MG BTBMOM F0TsQMGOI0S
30009056 (0b. Bob.). 93053060395 dJE530 IM305, MM BTBIMS 5G5S
©IBRMOI0OGOME0. 58 dGEo3l gxobgds s 9hgdgds BFdMOL AoLH3M03 vV LoBJsGom
9dmd6530 m dsLOL dGENs30. IR IHJOOL MM

doeBg 930695, 580G M IR bYOOL 3MM3EgLdo

B3G5 396 sLFEOL 33493350, bobbo mf~ . |3m

VA
BIYPOIYo3007. 3oBLsBEZMYO: '

1) dga053930L LoRJo X SHBJIOL dMEMLU;

k

2) D306l Joglos MO 8939933955
3) ox9bgd0l M6 0sb M5 ™Mo 89039993905 DsddsGS BogloBoIMS;
4) LHgoLo 9bgMAOOL M5 BofioEros X SBYOOLOL oFMYMTBOEPO LOMBML MOoMEOYEMD;

5) 6589600 25005 dJE53900, 019 153930039E5© om0 (398396MoEwMNdO
9ONB5060s, berewm B30 60300096900l 3P0 LOMDMFHYZ5EMBS c. 35960 LoMDdMUL

5653503900 )BIXIOILOYSZO.
5dmblibs:

1) mv=4mu = u=v/4 (1 Joyems)

4mu? kx?

4m vV [m
2)——=—", X=u \/; =3 \/; (1 gwgems Bombgsgs 0dols, Boligs vy 565 u-ls
390mbsbuyegds)

3)t=£=§\/%=ﬂ\/%(ldm@a)

2 2
mv 4mu
4) El = 2 ! EZ = 2

_ 3mv?

mv? Q 3
= TV. Q=E; —E; =— B T3 (1 gegems Borybgsgsw odolss,

Baligs 0 565 u-bs g99mbisbryemgds)

_ 3v2

Q
5) Q = 4cmAt, At = —— = —- (1 s 8005935 080Us, A3ligs m2) 565 Qb
290mbsbuyemgds)



©535¢0905 41. (5 Jmems)

vV 9m0 9Om9@™M30560 0099 MMH0 S0M0L dEYMIsMmYMdS 033¢9ds 39bmboom VZ=aT,
LoSE V 5060l ImEmemdss, T 90LmEmE@eo 39d3geodess, bmwm a dmEgdmwwo
300080355. 5060 Lfyobo IMEMWMdss Vo, beagnm LsdMeEMm™ - 3Vo. 0©g5¢M0 5060l
Mb039MLOEMMHO 39930355 R. gO9EHMB0560 000g5¢m0 5060l Bobogobo gbgbgos

3
3960LsBEZMYOs BmMIEom U = ~VRT. gsblobegmgo:

D) a 3m95303096@0L 90mgmeo LsgMmsdmmobm LobEgdsdo;

2) (53gbxgc 9903355 S0MH0L SOBMYEHMMO F9a39MGHIO;

3) 5060b {6930l ImEMEMdIBY M 30©YOMwgdol p(V) 3956mbo;
4) 5060l gL gdEo F9Fsmd;

5) 5060l 800900 BLOMdML MOMEOIbMdS.

50mblibs:
D[] == (1gnws)
T,

VZ
Z)T—1=V—§= 9 (1 gnes)

— 2 _ VR
3)pV=VRT,V*=aT = p= aV(ld‘nga)

+ R R 4VRV3
4 A=V, — Vi) = 2 (VF = VE) = 2 (9V§ — V) = =2 (1 Jeyemo)
2 2
5) Q =AU+ A, AU = %VR(TZ — Tl) = %(VZZ — V12) — 12V;VO'Q — 16\}5‘/0

(1 J9es Bovbys35 0d0Ls, Boligs 03¢ 565 A-Us g58mlisbeyergds)



